Assembly | Assemblage

PO101132 Customer service | Servicio al cliente : 800.633.5096

4 h
Product number | Numero de producto

HF1117520

Thank you for your purchase! | iGracias por tu compral!

- J

1]




Assembly | Assemblage

\

N\

(<L (<L =L

|

parts
piezds

pieces

~N

.

O

@ i

B




Assembly | Assemblage

Techniques | Técnicas

Care | Cuidado

Safety | Sequridad

3]

Note! | iNota!



Assembly | Assemblage

@

Bolt 5/16" x 1-1/4"

Bolt 5/16" x 1-1/2"

©@

@ x36 x36 @
Lock Washer $5/16" Flat Washer $5/16" Bolt 1/4" x 1-1/8"

@ x4 x4 @ x 1
Lock Washer ¢1/4" Flat Washer ¢1/4" Allen Wrench M4

Screw #4 x 1-1/4"

=

-«(((-c-(-(-@@@ x 4

Screw #4 x 3/4"

4|







Assembly | Assemblage




| Assemblage

Assembly




8|

Assembly

May We Help You?
800.633.5096

Please have this information ready
when you call:

« [tem Number

-PO#

« Purchaser Name

- Place of Purchase

« Purchase Date

- Date Product Arrived

Please immediately examine this

product carefully. Any request for

missing or damaged parts replacement

must be received 90 days following

the date you received the product.

Reauests for replacement parts, if
rored within this

| not be available
eceived fully
deem e v e w0 FECOMMeEnd
modifying products and we are not
responsible for any damages due to
product modifications. If damages or
missing parts are not reported within
90 days of the date you received the
product, we are under no obligation
to provide parts or replacement
merchandise. For product issues,
please contact customer service at 800-
633-5096 (toll-free) Mon-Fri 8:30am
- 4pm CST. Forassembly issues, please
contact customer service and ask
for technical assistance. Regarding
product returns, please contact the
retailer from whom you purchased the
product.

Please note, for items purchased ina
retail store, you will need to contact
the retailer for all part needs.

Product purchased at garage sales or
discount stores is sold as-is and is not
covered by the above policy.

| Assemblage

i{Podemos ayudarle?
800.633.5096

Tenga a mano esta informacion
cuando llame:

» Numero de articulo

PO #

» Nombre del comprador

- Lugar de compra

+ Fecha de compra

- Fecha en que llego el producto

Por fav

detenidamente. Cualquier so

or, examine este producto

citud

de reemplazo de zas faltantes o

danadas debe recibirse 90 dias después

o| producto

de repuesto, sl

6

ensamblados. No recomendamos

modificar los p

MOS responsa

ebidos a mod
1a

informan dentro de los 90 dias a par

d
e

Si l¢

nos o las piezas

& a.m. a4 p.m.
emas de montaje,
cliente
olicite asistencia técnica. En cuanto

el servic

ductos, péngase

= tal cual y no esta cubier



